E 0 & AHE E A A

I ZE0IpIE PE2Y
el g9l 82 N (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
AT HEXRA 19,050,563 18,277,987 772,576
FRIotE RF2Y 2,329,278 2,126,829 202,449
gadxe #8324 N 165,213 158,619 6,594
2E dAEE 2 KR 90,664 84,068 6,5%
201 ZeH22 ] 48,924 42,512 6,412
01 Al 22l 24,360 14,760 9,600
OHEN ¥ A8H 1,500 +4000H 600
OMF U YBF H0IA
5,500 4004 2,200
OfIds A& 100,000 *5Z * 102 5,000
OABHAN BE B4 70,00024+203] 1,400
OFABE T=Y| 2,560
O22=(28) 240,000 »4H 960
OuYsr= S 33 40,0002 +4%4 1,600
OXg AW - HHDS A2 1,000
OSHAAI32) 1,000
-Jl= 300, 0002 *1E *23] 600
-=1 200,000 *1H *23] 400
AQIE BC 29 22| X
8,000 +50H 43| 1,600
OALIE FEEZs FX 10,000
OBt AR2NE 5,500
alt] 1,650,000 %2213l 3,300
Dol (SEEY Z8)
2,200,000&«1*13] 2,200
O &2IHI0IE (B2t22IX) Lot DS
500,000 *23l 1,000
OSUPE 88 T2y 2
20,0003 175 3,500
02 E324Hl 24,564 27,752 A3,188
O0ISE Hii28= 54,0002 x430 23,220
OBWALRFH| RAIb| 1,344
OLDE=ADI 15,000, 0002 *8% 1,200
OLYBI= A 1,000,000 *8% 80
ORAHE 800, 0002 8% 64
203 L FFY| 10,000 10,000
03 AR FRIHRFAIH| 10,000 10,000
OTEHYANA U YLBHAD 2
10,000,000& 10,000
206 =4I 13,020 12,261 759
01 =4I 13,020 12,261 759
OL= Jt2J| WA 13,020
O2t=27] 5,000&*1,5000H 7,500
OJI2J] HE(SZE) 8,000 «600H 4,800




2A:

2T AWTAD

M Z0IpE pE2d
el gEUXls PE2Y XY (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEH=71 S(ZAHSUE)
30,0002 »4S+60H 720
301 EtE2 NS 1,920 1,920
11 #AIAHIXIZ S 1,920 1,920
OFAF 0ISTES 23
10,0002 * 162 *62] 960
O FUNXANE S 2
10,0002 * 162 *62 960
307 elzto| & 16,800 17,375 AbB75
05 212t =S 16,800 17,375 Ab75
O=Zd Jt2J| AL « #EHA
4,200,000 42| 16,800
E sd=N s 38,775 38,777 N2
201 fet=3| 23,600 26,397 N2, 797
01 Al 22| 23,600 26,397 £~2,797
ONHESE TR 2 AL
300, 0002 x4 * 122 14,400
OADILER 2SXZ na ZASE 2,000
OSE82AH3E) 2,000
-Jl= 300,000 x1H*43] 1,200
=1 200,000 x1H*43] 800
OUAY SASMAdI| MlHlS
250,002+ 122 3,000
OTUAY HAS NHTY
350,000 x 122 4,200
303 Zal= 6,000 6,000
01 2= 6,000 6,000
094, 3E HYRNBOH TE
100,000& x10E «62] 6,000
405 AHAHE S 9,175 2,000 7,175
01 AL =S F = 9,175 2,000 7,175
o=uag =8 ¢ 9,175
O&IIADA=1 3,025,000 *1CH 3,025
OSsgaz2an 2,250,000 *1CH 2,250
Ott2d 221 2,420,000 1CH 2,420
OsAl=2et 500,000 ~2K 1,000
ODEssE & S0l
80,0002 *6H 480
AIBL ALSIE M HE X 35,774 35,774 0
307 @120l & 35,774 35,774
02 QB AANEE R 35,774 36,774
OEHsS MOESX=XE2s AEXIE
1,164,0002 *8IH A 9,312
OsHsS MOtSeRUE2 AFEAIE
1,164,000 +87H A 9,312




2A:

2T AWTAD

M Z0IpE pE2d
el gEUXls PE2Y XY (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSHS tt2AHAI|/ASs AISXIE
1,319,200 #8704 A 10,554
Ot=N=3HY SUSE2 A
582,000 *37H A 1,746
OFYT SHSHE NHASAU AFS X2
4,850,000 * 104 2 4,850
AYESAE JIs2ES 265,343 250,655 14,688
IO =24 265,343 250,655 14,688
201 Ler23| 100 100 0
2 s5=34l 100 100 0
OOGIBI0I=0IAIE Biaty 282
100,000& %12 100
307 @I2t0| & 265,243 245,538 19,705
10 Al SXAI2EE 22X 265,243 245,538 19,705
O7&0eold 2&Hl X
265,242,760 265,243
I, B2, S, 2 AL 50,807 83,659 A32,852
THE e = 19,848 38,640 18,792
201 er23 | 13,548 13,260 288
01 At2teltl 13,548 13,260 288
O%E AHERE UM RO 11,500
O&J| ERELIAN 10,0003 502 +23] 1,000
OF=Al BRENAN 10,0002 502 +23] 1,000
OFRIUR ANEHEAN
10,000 100+ 12] 1,000
OAIZ A& A 10,0002 #1002 +23] 2,000
023 HFAPZA!
15,0002 3002 *12] 4,500
Oo2d=d FEEIAN
10,0002 #50F+23] 1,000
Og=RAH=A 10,0002 %100 +12] 1,000
o7& YRENS =9 M=
70,0002 +82] 560
oOAE Hay a4 A58 1,488
OelXItH 320,000 43 1,280
Os&g= 52,0008 %42 208
202 04t 4,800 4,800
01 =LHOHI 4,800 4,800
oY= 04|
20,0002 x10H 24 4,800
405 AtatE = 1,500 5,580 4,080
02 =A-EHI 1,500 1,000 500
OSIHH(HE = A) =M+
15,0002 100 1,500
et SHZA 5,063 4,833 230




SN HAD BN
M Z0IpHE pE2Y
el REIE, 22, S, ZA IFE2LE EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 5,063 4,833 230
M ORINZZE2NSES 5,063 4,833 230
OSH A EREX 212 4,926
OZ M= 82,1002 x1& =20 1,642
OAFZHIZEAL 82,1003 »1&8»20& 1,642
OAt2I Z AL 82,1003 18 »20& 1,642
O4i2E JI2RY= 137
OunE=s 4,926,000& *1.75% 87
O4t=Es 4,926,000& *1.00% 50
AEI Sote RESE 25,896 40,186 A14,290
201 2= 25,896 22,916 2,980
01 At22t2l] 24,89%6 21,916 2,980
oxg JIEEE € g 1,700
Oelst= 5,000 *3000HK 1,500
OALEI4 X} 10,0002 *20H 200
OUIANE MEFASE 20,19
(OFESN 15,0002 *x365* 122 6,480
OXIgX 13,0003 +812+ 123 12,636
O=2tAl 5,000 *18%* 122 1,080
o+d g=2= MH 10,0002 *300% 3,000
02 S3=gHl 1,000 1,000 0
Ot Nl 2 50,000& *20K 1,000
HEe FAEE xd 870,291 656,861 213,430
THREE A RX2a 619,771 508,791 110,980
201 Ler23 | 454,039 425,589 28,450
01 At2t2lt] 80,531 74,327 6,204
OFBA SLUAHIANAY =2
484,000 123 5,808
O3=J| itz 40,0002 x0CH* 122 4,320
O3JI8E)| X=
35,0003 *3CH* 122 1,260
OgRUH == 58,823
Osd)|l 22U ==
194,000 x2CH* 12 4,6%
Os2I FIIZA =8
150,000 *2CH*12] 300
O&Jgta e e =2
1,310,000& «12& 16,720
OAgotdae] e =28
207,00084 %102 2,070
OAZANE HS)Is & SE8ILES
2,000,000& *23] 4,000
OZAIDIA EIIZA =22
270,000& %12 270




2A:

a7 X

M =0IpiE pEeY
Chel: BRE HAIE XA (crol: m2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OFMN NES IBLRBNES) 248
570,000 & *23| 1,140
OMB HEZ A BI 248
560,000& *23] 1,120
OR4ZE Ba 448
10,000 *334-=+23] 6,680
OFTIE AUBIIE 28 442
847,000&*13] 847
OB A= +42
125&%5, 181 m x83| 5,181
OZZLHY A &S =5
125&%5, 181 M x263| 16,839
octd el NESEH| 920
oAy 200,000& *12] 200
OJIHA 310,000& *13] 310
05271 20,000& *13] 20
OJtA 300,000& *12l 300
O&J| 90,0002 *13] 0
oLgEHE =57 100,000 43S 400
OF AL &4 HIO EX=
25,0002 *30CH* 123 9,000
02 E324H| 373,508 351,262 22,246
033222 & HAl 228,461
OodIIRZ2 12,300,000 x 12 147,600
OtAR3a 2,776,000& = 12& 33,312
Oudts=E 22 3,600,000& =123 43,200
QueEsg=Rgza 5002 %15, 790m" *50% 3,948
OZATAHARE S (1H2E)
25,0002 *13] 25
(@E-130IFSE=:keifa] 53,000& *12] 53
OJ1HLHIAL ™3] 123,000& *13] 123
O&IIDI=E sl 200,000& *12] 200
OAIZEHIR I 125,823
OFAN A= 5,020&«15,710m" 78,865
OFEAF JIHEHl =X
210,486& *502]+2Z 21,049
OFE A HI|&H| X
259, 0802 %5051 522 25,909
OHAI ZZ BRI
2,4003*2,670m 33 19,224
206 =4l 42,732 33,202 9,530
01 =l 42,732 33,202 9,530
OB A2 ES 28,506
O82E st&Xl S 53
250,000 x55+12& 15,000




2A:

a7 X

3 F0oE JZE2Y
cels Es FAEE xd EER=E)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
oMl SHHSF
2, 17021500 123 3,906
OBA HAEE(MM S 63)
5,0003 202 x 122 1,200
O =E= 35,0002 «200H* 122 8,400
OFAtZe| 2 & &, AL TH(eE
s 218) 50,0002 x55* 123 3,000
OFAL &I, ALAE A2E 10,860
O8Il S 78 40,0002 75+ 122 3,360
OxHII+ S 55 150,000 *55+10H 7,500
OgdI| R4 1,830 2001 366
401 AIZHIZ S0 123,000 50,000 73,000
01 Al&H| 123,000 50,000 73,000
OFAL XIotS A EH SA
35,000,000 35,000
OJIH&Hl 4582 89
21,000,000 21,000
OXIotFItE HH 2 SA
32,000,002 32,000
OXIGHERIT 2420l B4 T
15,000,000& 15,000
OFA Of2 ALt 2+ At
20,000,000 20,000
getet 2 HER Hel 250,520 148,070 102,450
201 Zet2d] 120,770 119,570 1,200
01 AlR2telHl 8,250 8,250 0
OYUR(XL,BN) 242
20,0003 %1002 2,000
O=83 XU Zd=+=+=
250,0003 204 2+53] 2,500
OIAT SR BT U A4 3,750
O=3ac| e ESH
2703 *5,000H 1,350
OHetated ga8y 50,0002 x5& 250
OX&2d MNRES(EA S 1135)
50,0002 122 600
OXEATE NS BEI| 22 1,550
-2y 70,0003 %102 A 700
=t 170,000 «5SET 850
02 S3=gHl 112,520 111,320 1,200
OXtSAt 2tel 20,520
oYL & SELE 14,320
-SE1 ¥ 380,000 30 1,140
-S8it € 500,000 *3CH 1,500
-S8X e 660,000 1CH 660




A AT AFNZ

HE: F0I0E INRY
cels Es FAEE xd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
RCIE—=DNIEN= 720,000 «9CH 6,480
SIEX € 790,000+ 1CH 790
-St=Xt e 900,000 *2CH 1,800
-SEX = 510,000 ~2CH 1,020
-SEA U 930,000 1CH 930
ORXSRHAl (HE) 2,485
-S8it 8¢ 75,0002 *3CH*12] 225
S8 8 250,000 *3CH*12] 750
-SE e 400,000 x1CH*12] 400
SEX A 55,0002 *9CH* 13l 4%
S=x SE 55,0002 x1CH*12] 55
-St=Xt e 120,000 *2CH*12] 240
-SE S 100,000 *2CH*13] 200
-SEA HE 120,0003 = 1CH*13] 120
O Rg=2 1,405
S=X A8 50,0002 *9CH* 13l 450
S=xt SE 90,0003 *1CH*12] 0
-SEX e 180,000 *2CH*13] 360
-SgI S 150,000 »2CH*13] 300
-SEt e 205,000 *1CH*12] 205
O&IIEA =2 27,0003 220 =23 1,188
OSEEA =2 51,0002 *22CH*12] 1,122
Oxtgr= Al 92,000
O&I|xt 1,500,000 *2CH 3,000
Odxt 2,700,000 *3CH 8,100
OsEsxt 4,900,000 =2CH 9,800
Osgxt 6,500,000 +3CH 19,500
O3t=xt 4,300,000 * 12CH 51,600
202 04l 4,750 3,500 1,250
01 =LHAHI 4,750 3,500 1,250
O3S M= XHEXIE o] 4,750
o2 30,0002 x5 %193 2,850
O 10,0002 5% +382] 1,900
405 AHAHE S 125,000 25,000 100,000
01 AL =S F = 125,000 25,000 100,000
oZsitg 1Y 125,000
OStEE=(HE) 125,000,000 1CH 125,000
dE3 Jgtxd & 28 N2 977,624 977,035 589
YN0l YT =Y 463,592 333,322 130,270
201 fer= 3| 193,072 195,502 A2,430
01 At 2|l 30,800 45,050 A14,250
OFEE 2ZEHN + 30,800




SN HAD BN
M Z0IpE pE2Y
ol 323 Jigtryd & 28 XIE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMSI| A 553,000& *50= 27,650
OogsEx 63,0003 *50= 3,150
02 S3=gHl 162,272 150,452 11,820
OTAHEHl & AIAE KRB 125,712
OgRE FRH(BITH)
4,532,000~ 12& 54,384
OgRE ZalH(2540)
770,0003* 122 9,240
ORoloIdLZI(21TH)
4,270,000~ 122 51,240
OSEUFLSII(150H)
720,000& * 122 8,640
OUEHIIZ2 tHEAD et2I1(1th)
34,0003+ 122 408
Ogoldg seesII(1t)
150,000« 12& 1,800
o7& & SHsS SH oI =Al2
1,200,000& «12& 14,400
OBAATEN FXIHI(2H0IEA 7)) 22,160
OPCE W4l T2 ) 28,0008 x500= 14,000
OAHE Al Z2 )™
440,000 x4= 1,760
OUPCXIZ10 30,000 *100= 3,000
OMelEE gsstZ2 I (PCE)
34,0008 100= 3,400
206 MH=H| 2,000 2,000
01 M=4l 2,000 2,000
O&AtEH RXE4 22X
1,000,000 *22] 2,000
401 Al HIZL S 0HYI 34,000 34,000
01 Al&HI 34,000 34,000
OReIALSI| SARA X 34,000
O=2RA M & £X]
22,000,000 * 100 2 22,000
O=8 &I € E= SAHI
12,000,000 * 104 2= 12,000
405 AHAHE S 234,520 137,820 96,700
01 It =S F = 234,520 137,820 96,700
o7& & SHS HYSAHE HIMNSY
Bl 25 234,520
OIS =H 1,400,000& 50CH 70,000
OEX2LIH 400,000 *30CH 12,000
OZgH(MEESEN) 600,000 *30CH 18,000
OfRelags)| 25,000,000 *4CH 100,000
Osgtagsll 7,960,000 =4CH 31,840




SN HAD BN
B F0I0kE PEed
=2el: F23 Jlgtxd & 28 X (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OxpS=e28 Z=81)|J|(3%)
1,340,000 *2SET 2,680
HEBSA JIBAE 29 514,032 643,713 A 129,681
201 LBt AH| 380,617 303,433 77,184
01 AtR2t2lb| 1,000 1,000 0
OAIENEA SHEH| UWE+2
200,000 *5CH 1,000
02 S22ZH| 379,617 302,433 77,184
OSANESH AIBE 177,144
OZIIABEA J|I23H A2 155,184
<> 89,5
1,204,000 x93 &1+ 12& 130,032
-2010128+=2D]
262,000 *x83| &1+ 12& 25,152
QMM AL H(ZIEEEA 2
G0 700,000 13| &1+ 12& 8,400
O=ZUNEIN AISE 13,560
-2 <> 5,9, 5,0/
30,000& *213| &1+ 12& 7,560
“A<=>7 2lg|eSs
500,000 * 13| &x12& 6,000
O™ T} (EHYHESG}) AIRS
4,500,000« 12& 54,000
OYLENG AIE2= 7,000 %33 &+ 12& 252
ORALEE A2 (HEHA)
20,0002 *13| &8 x12& 240
OPQIEYIIIH/Z2HILRIEHYUS N AIES
30,000& x183| &1+ 12& 6,480
OB SAIEHl KAl 141,501
OANEEESAHEH| 5,503, 750& x 12& 66,045
O™ NFWED| 2,215,000& 128 26,580
og2aes)| 132,000 x12& 1,584
OLHEE XX (UPS) 244 0002+ 12& 2,928
OAEXEZTA EZ |
200,000& «12& 2,400
OFFEAF S EH| 1,716, 700& 128 20,601
OCCTVE I 1,294, 200& * 128 15,531
O=3 2 St SAIAE
366,000& «12& 4,392
OBHDIAARE BA
120,000& x 128 1,440
206 =8| 14,000 5,000 9,000
01 HZHI 14,000 5,000 9,000
OB EAAIE A 14,000
OUTPAIOIZE S 108 2,500,000& *23| 5,000




SN HAD BN
M Z0IpE pE2Y
ol 323 Jigtryd & 28 XIE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS YA tE2
300, 0002 *30H 9,000
401 AlEHIZ S 0HbI 10,000 23,500 13,500
01 AlZH| 10,000 23,500 13,500
O7% & s8s FUSNEZ FHl
5,000,000& 22 10,000
405 KHaHE SH 109,415 311,780 A202,365
01 AL =S F=H 109,415 311,780 A202,365
O+d, SHS ANZEESUEHl uH 98,300
Ogsstatl(#8) 49,800,000 »1CH 49,800
OLRAX(BFHLE) 6,062,500 ~8CH 48,500
OIPtIYS =4l 1,505,000 *3CH 4,515
OHIHRE IPTERH| 660,000 » 10CH 6,600
d8st 23t - HE 2 28,144 27,19% 948
dA8st 23t - HF 28 28,144 27,1% 948
A8s RS2y =54 11,924 11,276 648
201 er=2 3| 11,924 1,276 648
01 AtR2te|HI 11,924 1,276 648
OZRSIMSAIEY AU L E22 WA
7,000 %5005 3,500
O-HASTAR DEUA 2Y4Y
120,000+ 1 120
OSHAHYI =) HHAXZ(5EEH)
29,000 »23CH+62] 4,002
O=%=Mt HRE= 500,000 12 500
O3BAES(2SAE) AT =52
301,000 x2E*12] 782
OMSAIE HHEH =558 3,020
OA=FZ20k 391,000 x2& *23] 1,564
Oxg=20k 364,000 x22 *23] 1,456
SUIMISAIE 2t 16,220 15,920 300
201 2= 6,420 6.420
2 S5=2g4l 6.420 6.420
02 MSAE &JIRs
35,000 1 A+ 123 420
ookl SI|7 |XR
100,000 *60& 6,000
305 HHal= S 500 500
01 Hie=& 500 500
Oofe2s)|7 xstie=3H AIIRS
=2 100,000 %52 500
401 Al HIZL 201 9,300 9,000 300
01 Al&H| 9,300 9,000 300
Ok= Of2=2s0I+ WAl
3,000,000 +38 9,000




A AT AFNZ

M JAXE 25 M 2
& A& 23 - HE 22 (CH9: &S1)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
||| ooriesdT mx 300, 0002 300
plgtel 2 484,793 427,079 57,714
Qg det A AR 2t 484,793 427,079 57,714
gt Wssd FA 212,120 204,470 7,650
201 23] 9,970 8,410 1,560
01 AtR2telbl 9,970 8,410 1,560
ODIYS B BT B
70,000 *62] 420
ORIE? S & HIIAIE QHHE WX
100,000 *107H 2 1,000
OulgS B AE QoIS ME 2,650
Oolgs DS B HEA S0
10,000 *50% 500
Ol 2NN RO
72,0003 255 1,800
OIS WS S HAZ
50247, 00000 350
ORODIE ME LY DS LALE
120,000 102 1,200
oulglels 7Y 2,120
(@S 25,0003 x5 L+ Al 1,000
OZI 23,0003 *5 L +8F A 920
O2Xt 5,000 5 &£ +8F Al 200
ouA= MEHI 86,0003 50 »23] 600
ORI Jt=2J| Y ¥ EN
990,000 *22 1,980
206 =4I 6,060 4,770 1,290
01 XH=4l 6,060 4,770 1,290
OYIHLDI(AHEE) 10,0002 160K 1,600
OFUUTAIL Bl4E8EE
180,000& *207H 3,600
Otlalg=Ald =2 ZAL IH=+E
1, 1002 «100H 110
O3ty Zdl 750
OS2 M=& 150, 000& *2H 300
OEXIX 150,000 *37H 450
301 LENZ 160,090 185,290 4,800
06 AHELHUHAHIA 127,840 123,040 4,800
OXt=U O 68,440
Ogs 4,0003+5E« 122/« 128 2,880
OXI<H 4,0003 x5 110298 65,560
OXESLHU 7 2 29)
200,0002 +10CH = 122 24,000
OXEd8l =223l
200,000 1101122 26,400
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SM: HAD ARTAY
mu: Dl 2o
Chel: pigglolar 243 U AlBI=ReaRR) (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Osl+=9 70,0003 *1H 70
Oyt 33,0002 *1H 33
AH2LIHI(HAT EXE W) 16,208,348 15,696,883 511,465
el 2| 16,707,867 16,196,162 511,705
el 11,481,010 12,004,675 A\523,665
101 @124H| 11,481,010 12,004,675 A\523,665
01 &= 10,605,622 10,523,993 81,629
oJlZ2= 7,605,580
OJlzs(dsSH) 763,480
-42 94,424,000& 1 94,424
52 83,632,000 8 669,056
OJNz2(zSH) 6,842,100
6= 4,261,000& 67 S+ 123 3,425,844
-2 3,312,000 «50H 123 1,987,200
8= 2,268,000 +34F « 128 925,344
92 1,749,000 x24 B« 12 503,712
(CF-{GES, 781,856
Olies=a+¢ 71,041
S8l 4,261,000 x30L *4. 1%+ 122 62,893
=< 3,312,000 x5 4. 1%+ 123 8,148
od2=+g 570,175,000 »50%*22] 570,175
Od2=g M= 140,640
-25E0( & 130,000 «51H*12& 79,560
-20H0[&~25= 0] 2
10,0002 x3& * 122 3,960
-15E014~20= 012t
80,0003 »25H « 128 24,000
-100[a~15= 0] e
60,0002 x16H* 122 11,520
-540la~10= 02
50,0002 x36E 122 21,600
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OTX= AP 5,500,000 *1CH 5,500
(OINE S=2IN; 9,800
OAIRE2RH(&eIXH2)
500,000 1K 500

300,000 =31k 9,300




Al &£ 0ol & A & Al A
20234 20ilat Lete HRS HIXNIAL ~ FF A=
SH: BT SN
I %t JiRe OFSUE TAlEE &4
Rl N MEetd Y EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
T I/ 6,163,023 6,050,529 112,4%4
9 JHRE OISL2 SAIEE X4 784,885 750,648 34,237
e daed &4 709,069 689,268 19,801
NeEs =8 28 5,392 6,392 21,000
201 fer= 3| 5,392 6,392 21,000
01 At 2|l 5,392 6,392 21,000
O NEE E2= 1,000 *1,0000HK 1,000
oHgas a2t 300,000& * 12 3,600
OHEZS 28t XX SRz
66,0003 * 122 792
Mol RS0 A 40,830 53,830 13,000
201 Zet=3h] 21,030 22,030 21,000
01 AtR2te|HI 5,180 6,150 21,000
oMl SESI HY 5,150
O3 (FE)
35,0008 *7H S S+ 10H 2,450
Osl+=o 70,0002 +7H S EH S*4M 1,960
O8H HEAMN £88 Zel” &Y
220,000 x2H 440
OZAISthet & e
20,0002 1574 300
2 352484l 15,880 15,880 0
OZAlIZtoIet QEE! 2HAIER
36,0003 +202| &+ 12& 8,640
OZAIDtHIet |Xl2el]
4,000,000 *20CH *8% 6,400
oOHEE SUE AEE
70,0003~ 1CH =122 840
401 Al HIZL 201 19,800 19,800
01 Al&H| 19,800 19,800
OZAISteH1EE) OI™EX]
450, 0002 *11CH 42 19,800
2 & XD =H 28t 660,407 609,034 51,373
201 ger=3| 472,187 396,474 75,713
01 AtR2te|H] 40,909 44,637 N3,728
OsBEEFN ATJUF A=<
120,0003 1 +23] 240
OEAZRANEH H=D| gX=
30,0002 «1CH =122 360
OSBSRA SULZ Y MEZ
170,000& * 122 2,040
OUEHII= HEAMLD RIESI| EX
130,000 x102 A+ 104 1,300
oUugHII=E MIES 1002 *30,0000H 3,000
OUEHIIZS AEUNEN =+=2
2,000,000& *12& 24,000




A HEP SIAML
M 9 RSt OtE0E SAIEE 4
Chel: At MEEHH Xd (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OFAXE 22U 4,500 x32H 314 419
OMD| =HAHR AEIA
100 *3,0000H 300
oMYl RESFE HiiA EXE
1,000 *5000H 500
OXI(SE)HDIE =HHel
350,000& *25& 8,750
02 S=294| 431,278 351,837 79,441
O3E SUE ANE2(HAYR)
70,0002 *1CH+12& 840
OUEHEIIS =M PDA AIEE
33,0002 x2CH* 12& 792
OSZZRAHEH RUEYS MZ
20,000+ 12& 240
OF LIS HAIAE S4B
17,0003 «24CH 122 4,8%
O LIS 2el 54,710
OFINZB A 35,000& *20CH 700
O A 85,000 *10CH 850
OZSEEEE(SEX UE)
1,700,000 *25CH 42,500
OZeEe=(s2x 58)
900,000 *6CH 5,400
OFHINAULLED] SAe=E
1,000,000 *5CH 5,000
OANHRE S 130,000& *1CH*23] 260
O&FAEH| S| 369, 100
OHAINE - tHE) 12,300,000 *29CH 356,700
OstExH(Ad) 6,200,000-& *2CH 12,400
OZEZ! AIME2E YWs1 7|
7,000,000 *10% 700
206 =4l 48,220 50,560 A2,340
01 M=l 48,220 50,560 22,340
CHAAMXE IR 10,080
O=2dEH+ 280,000& »3CH*8IH 6,720
OAOIEEH+ 140,000 *3CH*8H 3,360
OHAZE(UHl S 128)
50,000 =125+ 12& 7,200
OHABY SSH 403
15,000 *80H 1,200
OXUIX HYDLH TZAE
30,0002+ 104 300
ok=z2¥ FXS 400,000 +87H 3,200
OBABLE HEH YHBE
15,000& *80H 1,200
OSEZRA AUHNMESEHP 25,040




SN HAD BA MDY
I %t JiRe OFSUE TAlEE &4
ool Nt dEed xd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(OFSI= S ONES S 12,0003 =80 +5H 4,800
og&orA3a 1,500 %80 1008 12,000
O=Zord 8,000 x80H *1H 640
Oo&E=2sH 7,500 80 *1H 600
Odlel23 35,000 80 *1H 2,800
OLED &) 25,0002 +80H *1H 2,000
ogstyz 5,500 80 *5H 2,200
405 AtatE=H 140,000 162,000 /22,000
01 TR =S FISHI 140,000 162,000 22,000
OFEAX(5E) 140,000,000 »1CH 140,000
S0 JHRe FEAF 2SI &N 2,440 6,600 A4,160
201 el 2,440 6,600 A4,160
01 At2telt] 2,440 6,600 24,160
Ol et 2 ANU2S FLES 600
oy 200&*1,000& 200
Oty 4,0002 100K 400
O e 2T AUSS 82 1,840
Osl+=9 70,0003 * 124 840
O8E= 1,000&+1,000& 1,000
ATt MOl stA ey &N 42,208 29,648 12,560
He=s SSAIE 2 5,240 5,220 20
201 er2&y| 5,120 5,120 0
02 S3=gHl 5,120 5,120 0
OY=sE SSAME HIIR3
10,000 * i A+ 128 120
OoYE=Es SSAE FX2el
2,500,000 <20 2= 5,000
206 MH=Hl 120 100 20
01 MZH| 120 100 20
HeEE NESUHHAE W8
1,200 *100H 120
SHINERYS 2 36,968 24,428 12,540
201 fer=3| 36,968 24,428 12,540
01 AtR2tc|Hl 10,168 8,828 1,340
OZNERGS F DXA U 6,200
o8Iz 10021+8,0000H*22] 1,600
O=s&s=2 1003 %23,0000H*23 4,600
OFNERg=s S22 A
70,0003 *9JH 2-#22] 1,260
OSZMERYES 0182 R 2,708
OXS0IHl ===2 503 #40021 2 40
OJIHH EF =&
80& 2,500 122 2,400




SA: AT BASAMD
M oD RS OIS0 TAIEY X4
I

ol NgEstFel StZ3y &) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXZ Bl =& 22,0003 42 88
OREHSHEE 0I8=
30&+50024 123 180
02 S3=gHl 26,800 15,600 11,200
O ZMNERES LIAKN &5 RBR=S 26,800
Oggt 4002 +8,00001 23] 6.400
oSl 2,500 40001 *23 2,000
O=ssd 4002 %23, 0000 <22 18,400
SHAEL 2AHE 22| 13,200 14,338 A1,138
2 - HSAIE FX2 8,200 9,338 1,138
201 fer=3| 5172 5172 0
01 At 22|l 2,620 2,620 0
OJfQlot=MelAlE A MAZX| QI
80,0003 » 128 A 960
OQIIEZtiEAE XN-ESE L= 1,160
oggs 190,000 x4 760
Og9st 100,000 x4 400
OYE+-Yd2R E2H| 1,000 +5000H 500
02 S5=24g4l 2,552 2,552 0
OJfelot=XelAE EAHH2NSSE
=Al2tell 11,393,970 8% 912
OstZ=3&Hl |AlZcbl
200,000 43 800
o2+ % IIE2kL UEXl SUHE AEZ
70,0003~ 1CH* 122 840
206 MH=HI 2,720 2,700 20
01 MHZH| 2,720 2,700 20
OJelot=xclAlE 88 M+d 7
1,200 *100H 120
OAFANZE ZHE H 40,0002 *307K 1,200
ORFolOtds= JIUA
700,000 22 A 1,400
301 LEIE NS 308 1,466 1,158
14 JIEt2 8= 308 1,466 1,158
OFCISIZAISAIH JIE2IEAE &
FH gs8d 24l 76,9602 x2H*23] 308
ST - SelstEd FEac 5,000 5,000
206 MH=H| 5,000 5,000
01 M=4l 5,000 5,000
ogelstad 223 500,000 *107H 2 5,000
BES=SE HIEARKE 22 20,408 17,3% 3,014
HHE A 2PAl 23t 20,408 17,3% 3,014
201 223 16,592 13,700 2,892
01 At22t2lt] 14,380 11,180 3,200




SN HAD BA MDY
M 9 RSt OtE0E SAIEE 4
ol SELE=E HHEAMSE 2 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OUIILI=E MEHFA U ===
800,000 120 2 *13] 9,600
0N HIASE ZHHY +42
110,000 x 1) A+ 132 I E 1,430
OHARY EHIY| LALAE
50,0003 *15*13l 50
OSZLIAIDAl LHAMel L HOISHMeltl
500,000 & *23| 1,000
OEZLAST HA =25
900,000& *13| 900
OSEXNETYR EEE NH(EHE S 28)
1,000 *500% 500
OSZIE=SE IEAL =52 1Il=t|
90,0003 x5 B +2E 900
02 33244l 2,212 2,520 A308
OSF=HAH A2l
200,000&*53 1,000
Od UAXL JFUHE MBS
70,0002 x1CH+12& 840
O&& RIAXel EHESXPC AL EZ
20,0003 «1CH* 123 240
O3 A2 NELFI| 2HPY 4R
11,0002 x 10+ 123 132
206 M=4| 3,200 3,400 A200
01 M=l 3,200 3,400 A200
OsZ2g LHZEI 2,550
oA 550,000 *17K 550
OREFA 100,000 x38f A 300
ogdls, #AoAT S
200,000 *54 1,000
OJr&Est 40,0002 *54 200
Oerd st 100,000& x5 &l 500
OZIANE R HZE 250
OPEE(44) 1,500&*1004 150
Owelg(1s) 100,000 * 12+ A 100
OUFANE ZEHE 9 40,0003 =104 400
301 LPENSZ 616 2A 322
14 J|EI2 A3 616 294 322
OSZIE=Z HIEAZE Qiztgs EdE
sl 76,960 *4 B 23] 616
PIMAN T SA(BH/EHAR) 11,370 9,750 1,620
Flad A 22|25 11,370 9,750 1,620
A 22| 4,880 3,880 1,000
201 Let23| 4,880 3,880 1,000
01 ArR22teltl 4,880 3,880 1,000




SN HAD AN
M SIMIA AF BA(P/P2R)
el Pl 2B (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0ZF  AEANYL URNA O S
1203 %1235+2,0000H 2,880
OAZS0Y U SASINE E28 S
1,000 *2,000Hk 2,000
A NE=HS 6,490 5,870 620
201 2= 6,320 5,700 620
01 At22t2lt] 6,320 5,700 620
OAMXNC=EZ LUAMA QY
5002 *1,0000H*45 2,000
ORd=ga=E 28 2= X
1,000 *2,000K 2,000
O3EAEE HESE EIF LHMEZA BE =+
= 580,000 x4 2,320
206 M=Hl 170 170
01 MHZH| 170 170
oAE= ol S2MEI| 2
170,000+ 12 A 170
WY 2IZH(HAF &FA4L) 5,366,768 5,290, 131 76,637
el 2E | 5,168,562 5,102,302 66,260
Q12| 5,168,562 5,102,302 66,260
101 e124d| 5,100,710 5,035,498 65,212
03 SRA(RIH )22 U2+ 5,100,710 5,035,498 65,212
OZ SR ARU(154 0l4) 5,100,710
OFJI=t=) 2,261,730 +80F « 122 2,171,261
OF={G}=, 1,229,632
g 2,561, 7302 x50%+80 L x4 2] 409,877
-g2+g 2,561,730 x50%+80 & +22] 204,939
-XI= Eted| 2,561,730 «50%+80E «62] 614,816
(OFSE. RS 946,600
S+gFSAg
90,0002 «80H 122 86,400
-Hg¥el=g 70,0002 «80F 122 67,200
-g2g0Rts 80,0002 x80H 122 76,800
-tEag 79,200
B <= Kt 40,0002 x55H x 12& 26,400
&5 20,0002 +x30& ~ 128 7,200
U PUIE] 20,0002 x50E «12& 12,000
SMAHA 60,0002 x30E < 122 21,600
SR AHA 100,000& «10E =122 12,000
-t stHIXES
500,000 x15& *13] 7,500
-Ei2esg 629,500
seI2RsE
142,552 x80Z x32 x 12 410,550




SN HAD AN
. AY2IIH(FEF S3ALD)
chol: ol CCRE)
L GR(B) - HIRAY - BER A HIDEZ
OF2t=2
9,503 x80& x4 L« 12 218,950
OSscl=dy 380,327
-HHIAH 140,000 «80E 122 134,400
-gER 2,561, 7302 6080 »23] 245,927
Oz4=X 129,600
pea k=l 80,0002 ~80& 122 76,800
-F&=g 50,0003 =80 122 48,000
-ad=srg 200,000« 1H* 122 2,400
A (LX) 200,000& x1H~12& 2,400
Ouxtrax ¢
162,006 *80& »20 243,290
303 Z&=s 67,852 66,804 1,048
02 dlta0i=s 67,852 66,804 1,048
CEEELES
2,261,730% %37 .5%+80H 67,852
198,206 187,829 10,377
Jl=2&H] 198,206 187,829 10,377
201 er2 3| 140,606 135,329 5,217
01 AlR2telHl 112,125 109,474 2,651
oJl=2gR=s 500,000& x25E «97% 12,125
OJIEZHI(S
8,000 x25EH 8L x 12 19,200
OIS FH
8,000 +808 »20! 12,800
O3EFH 68,000
oXgs 90,0002 +80H+6S 43,200
ogst=s 100,0002 80 *1& 8,000
OFEZI 15,0002 +80& »23] 2,400
Oetd st 60,0002 x80H *23] 9,600
Odat 15,0003 *80 & »23] 2,400
Oetd 2 15,0002 80 * 12| 1,200
o= 15,0002 80 * 12| 1,200
02 s3=gHl 28,481 25,855 2,626
OBEFH 3,481
o=z 30,0002 80«13 2,400
ontaE(al
30,0002 *x3& 12| 0
OHg= o (MAHER)
95,0003 *x3& *13] 285
OoRdd 8,5002 83«13 706
Cl== =g
150, 0002 *80Z *30f% 3,600
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SH: BET SN
. HYS2IHU(HIAP SEAMDL)
oel: D23l =
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OsZZ2A HIZ2WXI=Hl
500, 0002 80 *10% 4,000
OF K= A K22l
5,000,000 *2CH*8% 800
oRERI 16,600
oget 4003 *4,0000H ,600
O391 2,500 *6,0000H 15,000
202 04dl 43,200 43,200
01 =LHOdH] 16,800 16,800
©J1=Z3H| 20,0003 *14H 52« 12F 16,800
02 EHAL| 26,400 26,400
O©J|&ZH| 200,000& x11H*12& 26,400
203 R &I 9,300 9,300
M EA2IHRFALI 9,300 9,300
QJlEN 9,300
03021015 400,000 128 4,800
O302! =1t 5,000& 75123 4,500
405 KHHE S| 5,100 5,100
01 ML SEFHSHI 5,100 5,100
OAIRE 2Kt 300,000 1294 3,600
OAIRE QIXHZ2IX) 500,000 & * 104 500
TelE 1,000,000 *1JK 1,000

CEUPN




H & 0l & AHS B Ml A

#xe Ot
2 2ets =X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Far=mn. 14,082,827 9,582,283 4,500,544
= 75,000
== 290,500
Al 13,717,327
st Ji2gd x4 2,691,127 2,612,984 78,143
2.2t FA&e 2,691,127 2,612,984 78,143
Jl22ots ME 2w 653,600 644,032 9,568
401 Al HIX S0 653,600 644,032 9,568
01 AlZH| 650,000 640,000 10,000
OBUS M7 &X
1,500,000 *1009H 2~ 150,000
Ok= JtIZ2S LD WA
1,000,000 * 1504 2= 150,000
OA2Z =Y LEIIRE WH Y PHES &
X 1,000, 000& 15000 2 150,000
ONWdHEA Hs At == 2SS WA
1,000,000 500K 2 50,000
O2EN =8 L=IIE2S Wi & 2Hs &
Xl 1,000,000 * 15004 2= 150,000
03 Al 2CHYI 3,600 4,032 N432
OJ2BRS tE % D
500,000,000&*0.72% 3,600
2 - 2ots &el 2,037,527 1,968,952 68,575
201 fer=3| 1,497,797 1,494,632 3,165
01 AtR2tc|HI 19,625 17,036 2,589
OJI2S dJ|EHl 848 ==& 19,125
ozdg 53,5703 %3574 2 19,125
OJt2Eots 2o YA LI=H| 500
oXgs 90,0003 x2&H 180
ogst=s 100,000& x2&H 200
Oetd st 60,0002 x2&H 120
02 S5=24g4l 1,478,172 1,477,596 576
oJtzEets MJIRs 1,465,320
onzs 210,000 3414 A+ 12 859,320
Oo=Lers 7,500&5,80001 A+ 122 522,000
OdelHEg &llks
7,000,000 ~12& 84,000
OJt=s ggg H8)| SHe=
3,000 +357CH* 122 12,852
206 M=l 136,850 121,800 16,050
01 M=4l 136,850 121,800 15,050
OJtz2ets E+E XM 136,850
2ors 82| 100,000 *80H 8,000




FA BESF AL
Hu: Y= JlRed TA
B5el: IR 2ets |2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEEEEEES]
1,800,000 *1H 1,800
ONYUES BT 1500
27,000 »300K 8,100
ONYUEE I 2600
29,000 200K 5,800
OLUALIEE 2tHJ| 1500
43,0002 *150K 6,450
OLNAUESE 2r™J| 2500
53,000 » 100K 5,300
OLEDS I+ 700 360,0002*50H 18,000
OLEDS 1+ 120W 420,000 70K 29,400
OLEDS I+ 1500 600,000 *90H 54,000
401 AIZHIX S0HH 402,880 362,520 50,360
01 AlZ2H| 400,000 350,000 50,000
OIIZ22ots R+ 400,000,000 400,000
03 Al 20HHI 2,880 2,520 360
Oz2EtsS RAE=s
400,000, 000&%0.72% 2,880
ANSmegds gt TADIg &4 9,012,864 5,118,452 3,894,412
=S 268,000
Al 8,744,864
C2ME 2,993,999 1,142,810 1,851,189
C2IIPAIE &SNS 19,929 18,740 1,189
201 =3 19,929 18,740 1,189
01 At22t2l] 14,344 14,134 210
OZAIAHECIR ARE 2B2E 3,304
O=AEX 21,0003 7 A% 128 1,764
O&UH 220,000 *7H 1,540
OHge?, t2HE SEXIAM € A=EL
s XS 920,000 «1CH* 122 11,040
2 35244l 5,585 4,606 979
OxtgrRz =l 1,939 %12 £ x10H*240! 5,585
2 HYEX 24 104,070 104,070 0
401 AIZHIZL S OHE 104,070 104,070
01 Al&HI 104,070 104,070
OJ ==z HYEA 24 104,070
OEXoHHI 100,000,000 100,000
48 =8 4,070
LB
200,000& *2JH 2=%52] 2,000
—SEEYErTE 344,000 52 1,720
S0+ E 70,0002 52 350




2A:

E M

S (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
UE s s2dd MYEEE S2HE(221-14, AR 700,000 0 700,000
1-254)

401 Al HIZ S 0HbI 700,000 700,000
01 Al&H| 700,000 700,000
O3 A (L=660m, B=10m) 700,000,000 700,000
27 25 2 el =2HE 500,000 150,000 350,000
401 AlZHIZ SO 500,000 150,000 350,000
01 A28l 500,000 150,000 350,000
o244l & ==& 500,000,000 500,000
ocl0ts 23 MY =2HE 800,000 300,000 500,000
401 Al HIZL S 0HYI 800,000 300,000 500,000
01 Al&HI 800,000 300,000 500,000
O=Z4tl & =8 800,000,000 800,000
ANEE E2ME(2Z3-14R5H) 400,000 0 400,000
401 AIEHIZ SO 400,000 400,000
01 Al&H| 400,000 400,000
O=AHl & 244l 400,000,000 400,000
=SS 2Z2-1862H T2 IHE 180,000 0 180,000
401 AlZHIZ SO 180,000 180,000
01 A28l 180,000 180,000
OZAtHI( L=100m, B-8m) 180,000,000 180,000
=SS 2231602 =2IHE 50,000 50,000
401 Al HIZL S 0HYI 50,000 50,000
01 Al&HI 50,000 50,000
OAAEAESHI 50,000,000 50,000
ANES MEDOIS S2IHE(ALZ3-1208) 215,000 0 215,000
401 AlEHIZ 2 0HbI 215,000 215,000
01 Al&H| 215,000 215,000
OFdHl & == 215,000,000 215,000
QFE ol TRNE(AZ2-1225 ) 25,000 180,000 155,000
401 AIEHIZL R OHYI 25,000 180,000 155,000
01 AlZ8| 25,000 180,000 155,000
OE4Hl & === 25,000,000& 25,000
c22e 6,018,865 3,975,642 2,043,223
& 268,000
Al 5,750,865
C23H & |A2+ 2,553,329 2,218,139 335,190
101 @124H| 3,797 3,634 163
MU ORINZENSES 3,797 3,634 163
OUSE LA 3,797
ool 82, 1003 =2 *3 1wl CH+7 4 2 3,449




2N B AL
M XRHUNZS B TADIY EH

Chel: =22t (CH9: &S1)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O2tAMH|
3,000 %23 x2H+3 1) CH+7IH 2 252
O42E JI2RY=3 %
-IELE 3,449,000 +1.75% 61
“MHEE 3,449,000 *1.00% 35
201 L2 62,972 60,295 2,677
01 AtR2telbl 46,799 46,589 210
O37Mat2e| 11,390
Ozg=gdssE 372,000& 102 X 3,720
OgA=g==rE 567,000& *10Z K| 5,670
O3sMate| FNEXE M
50,0002 *100H 500
OEE (1) HIlE M2l
150,000& *10& 1,500
OT=FHl EHE A2Z 2,829
OEAEXI(A3, A4, A0)
21,0002 ~32t A+33 189
OXZglH EH(E2H, Ze4ZERIE 5)
220,000 44«38 2,640
Ol itz 16,500
O=z4] 600,000 *1CH* 15 9,000
Og=xt 500,000& *1CH*15& 7,500
O==20d XA & AN=EHE U &
Xt 920,000« 1CH* 122 11,040
OMEETD 2oI2HIAIAL
220,000 122 2,640
oIt U2 (E2EH)
280,000 & +5E 1,400
O=%g 2 gx= 1,000,000 1,000
02 S3=4gl 16,173 13,706 2,467
OL=2H HEZYE GIFD| HA=2HI(FLR)
1,939 6 £ *1CH*100 1,164
OS2 ZHIEH! <=2ldl(0IF1, HEDI)
250,000&*25 500
OBIAER R X2
5,000,000& 5,000
OZEE NsSEXl ZLIHE MHIA SAR
= 110,000 ~12& 1,320
OE20IA XA € NEHBXNE 77
u 1,930 12 £ »10H 240 5,585
OU=E Xlotxtz CCTV S32= & HAl 1,284
OU=5 XIotXtE CCTV SEIRS
100,000 «12& 1,200
OU=5 XlotxtE CCTV &IIR=3
7,000& 122 84
Odta=Z MYE B3R 1,320




2A:

M NGmgeds f8 TADIB =4
chel: S22zl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFSPIEei=; 50,0002 100 A 123 600
OSTNHIARS
60,0003 1 A+ 122 720
206 M=H| 47,690 47,690
01 M=8l 47,690 47,690
OxY E22+2 M 45,000
OZMotAE 14,0002 *1,500 £ 23] 42,000
Ook=z)|s8 g+ 3,000,000& 3,000
Okz2+ YA M 2AC|E K 2,690
OSAtE A 25,0002 *10H 250
O3ALE ctet2 13,2002 *20H 264
Oflgdus 17,6002 10 176
OXYL AHNES 2,000,000& 2,000
305 Hi& =S 12,500 12,500
01 Hie=S 12,500 12,500
OZ=ZAIE ALDZd Hiats
500,000& »252 12,500
307 212+01& 30,000 30,000
05 2IZtAE = 30,000 30,000
OXIotE &l 250,000 & 501 A #2432 30,000
401 Al HIZ 2018 2,3%,370 2,064,020 332,350
01 Al&H| 2,391,744 2,058,035 333,709
Oz % E2ANE=E RAEF 2,260,000
OOtAZE ALt 300,000,000 300,000
OXre =AY 50,000,000 50,000
OE: & 2N RXNE+
50,000,000 50,000
OEZHHAId=E R+
100,000,000 100,000
OFREZH M= 200,000,000 200,000
o002 7Y AldE |RAE+
50,000,000 50,000
O=Z ot EXI# EH| 25,000,000& 25,000
O2UE8=AE 1,285,000,000& 1,285,000
OsZAE a7 AE2+
200,000,000 200,000
OE2EHl & |RALZAr AAEA|
1,285,000,000&%3.71% 47,674
OANE ¥ sHEEZ DIXNSEXN B4 84,070
OEXIDHbI 80,000,000& 80,000
245 =8 4,070
-FEEIe2
200,000 204 A +53] 2,000
=gEErre 344,000 52 1,720




2A:

Zu: (ADHLNES A8 SADIE E4
chelr S22t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-S0l8x= 70,0002 %53 350
03 Al 2 0HYI 4,626 5,985 1,359
Otz ¥ TZANE=E RAE=AY
1,285,000,000& *0. 36% 4,626
FU=JAY 1,602,196 812,473 789,723
401 AIEHIZ SR OHYI 1,602,196 812,473 789,723
01 Al&HI 1,597,490 807,584 789,906
O8Y= 122 MASEEIAHL=300m, B=22m)
300,000,000 300,000
O3 &2 OtAZ Z4F = IARI|SAHL=1,150
m, B=10m) 350,000,000 350,000
OZZALIHZ OtAE EA & IMRI|ZAHL
=1,200m, B=7.6~11.0m) 300,000,000 300,000
OFHUSZZ OtAZ A & JMRI|ZAHL
=350m, B=6~16m) 272,000,000 272,000
ONZMAHR-BESDAHE SEHHIBA
[=410m, B=3m) 85,000,000& 85,000
oug At~ A et ESHHIZSAHL=2
86m, B=3.5m) 70,000,000 70,000
Ox72 FU=SAANS(EH)
150,000,000 150,000
O=2=TAI AAIEAHI
1,307,000,000& *3.71% 48,490
OEgs 2l =8 25X AAIEAHbI
22,000,000& 22,000
03 Al 20HHI 4,706 4,889 A183
O=pI=3 A 1,307,000, 000& +0.36% 4,706
wg 2 AIEES RA2 1,565,340 915,030 650,310
201 er23 | 4,290 4,140 150
01 At2teltl 4,170 4,020 150
orJ|tHe| =2 (H2IHE)
260,000 x 122 3,120
OsgHE A=HlE 30,0002 *7 52 1,050
2 S22l 120 120 0
OdclEg Sties=s 10,0002« 12& 120
401 Al HIZL 01| 1,561,050 910,890 650, 160
01 Al&H| 1,565,650 905,409 650,241
oug & ANEE A2l
300,000,000& 300,000
O8Fw B2 SA 200,000,000 200,000
O&4CIEE LEDS WHSA
1,000,000& %1,000H 1,000,000
Oug ¥ AE=E |A2c| AAIEZHI
1,500,000,000& *3.71% 55,650
03 AIZ 2 THYI 5,400 5,481 A81




SA: BT AL

Hu: NARHLRES I8 TADIE T4

Chel: S22 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
omz U AldE Saze
1,500,000,000& *0. 36% 5,400
a2 S3AIE |A2 30,000 30,000
401 AIEHIX R0 30,000 30,000
01 A28l 30,000 30,000
OATT W FHEAR
30,000,000& 30,000
HESTAIE REA 268,000 0 268,000
< 268,000
401 Al HIZ S OHHI 268,000 0 268,000
=S 268,000
01 Al&H| 268,000 0 268,000
0SS AHE| sZEXIAHL=130m, B=3m)
25,000,000& 25,000
= 25,000
OES AlE2| OtAZSM RIS AHL=400m, B
=4.5m) 60,000,000& 60,000
= 60,000
OU=s 2=1cl OS2 OtA2 IYR
J1ZAH(L=150m, B=6~8m) 33,000,000& 33,000
= 33,000
OU=+E Hl&el OtAZIM LIS AHL=280m, B
=3~6m) 50,000,000 50,000
= 50,000
O=0/% tHZ1el OS2tz ZHISAHL=80m, H=1
.5~2.5m) 30,000,000& 30,000
= 30,000
O=012H LHF2| OtAZ IM RIS AHL=400m,
B=4~5m) 50,000,000 50,000
& 50,000
og2s At MHES 20,000,000& 20,000
< 20,000
Mt Mokl M=zsh & 1,974,128 1,429,709 544,419
= 75,000
=S 22,500
Al 1,876,628
THER - THOH Ol 291,240 164,400 126,840
= 75,000
= 22,500
Al 193,740
e & THol 2+el 141,240 164,400 A23,160
201 er=23y| 116,240 99,400 16,840
01 AtR2t2|HI 700 700 0
oMttt S22 & S+ M
70,000& %102 700




2A:

2D AL

2 T Mool M=zst 2
CH2lr THt - THoll ol EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
02 S22l 115,540 98,700 16,840
o4&l Sl 16,000
Ougtl| |Xl2el 1,000,000 *1CH 1,000
ON&EE Zefa )| 22|
1,000,000 * 15CH 15,000
O==olitH2 ZH| RXAId 500,000 *2CH 1,000
08E2= € HA 59,340
OM&&D & we| &ML=
450,00021 % 124 5,400
OM&&D & | &+Eea
150,000& « 122 1,800
OEZNE Hgd &IIRs
9,000,000 x5 45,000
OG22 A (SLMEY, ELUL, S
1) HIIRs
150,000& *3H A+ 123 5,400
Og=2AE X (SLMEE, ECUL, &
1)) S4Rs 40,0002 +30H A+ 122 1,440
O=% - AEEX dE3lH SRS
25,0008« 128 300
(©ftak=d] 7,200
ON&zY B8 HAKFRU(SER)
1,3443 50 4 20 1,344
ONEE DI FRU(ER)
1,830& *16 £ *10CH*20 5,8%
ON&HH 2&(E=H Delold)
200,000 =64CH 12,800
ON&ZEH SRU(EHE Delold)
100,000 *3=2| *64CH 19,200
206 MH=H| 5,000 5,000
01 M=4l 5,000 5,000
OMOHCHEE XIH(EHOI S =)
5,000,000& 5,000
401 AlEHIZ S 0HYI 20,000 60,000 240,000
01 AlZH| 20,000 60,000 240,000
O=/=Xl |X&ec| At 20,000,000& 20,000
LH==XIotXt s &Y XEAIE AXISAL 150,000 0 150,000
= 75,000
== 22,500
Al 52,500
401 Al HIZ 201 150,000 0 150,000
= 75,000
= 22,500
Al 52,500
01 A&l 150,000 0 150,000




2A:

2D AL

S T Mol MzZsh 3
CH2lr THt - THoll ol EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OU==XIotAt e MUXEHAIE EXISAH
150,000, 0002 150,000
= 75,000
< 22,500
Al 52,500
ot - Bi==AlE IR 1,682,888 1,265,309 417,579
otd dHl & Sl 1,104,968 505,092 599,876
201 Ler=23 | 24,200 22,000 2,200
01 At2teltl 24,200 22,000 2,200
Ootd =& & =2 JHl &bl SXtE 22,000
O=41| 600, 0002 *1CH*20 12,000
og=xt 500, 0002 1CH*20 10,000
A=A Z2OH(ESTHD01E)
550,000 ~4CH 2,200
401 A& HIX R0 1,080,768 483,092 597,676
01 AlZH| 1,077,024 479,780 597,244
OotdE =Al2el 740,000
Odtd &H| 500,000,000 500,000
ON=z= & ==HIA 200,000,000 200,000
O2lchHFaoliai=E MA 40,000,000 40,000
O=Yd &z HBISAH
300,000,000 300,000
OotEdEHl € RAIZACIAE AAIEHEI
1,040,000, 000& *3.56% 37,024
03 Al 20HHI 3,744 3,312 432
Oste ddl & FA2AAIL
1,040,000, 000& 0. 36% 3,744
Bi=Al2 EHl & X2l 397,920 548,877 150,957
201 eer23y| 7,200 7,200 0
02 S3=gl 7,200 7,200 0
OFES Kotz S 44 =82 HI|IL
= 150,000& *4J1 2= x 128 7,200
401 AIEHIZ SR 0HYI 390,720 541,677 150,957
01 Al&HI 388,056 537,969 149,913
OltSot== &Hl & |2l
350,000,000 350,000
O=0IXNGHAtE Bi=8Z JANOEX EX
SAt 20,000,000& 20,000
Ofli=Al2 FHl & RX2c] &AIZAH|
370,000,000 *4..88% 18,056
03 Al 20HHI 2,664 3,708 A1,044
Oti==AlE &EHl & |X2el
370,000,000 *0.72% 2,664
N&EEHl & S22+ 180,000 180,000
401 AIEHIX SO 180,000 180,000




2A:

3

27 A4

2 T Mool M=zst 2
2l GHE - HH=AIE JHA (Cre|: ®M2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
01 A=l 180,000 0 180,000
ON& ZHl & |2 180,000,000 180,000
ot=2tel 32,480 32,480 0
Aot~ 25 2l 32,480 32,480 0
Kot A= 2tel 32,480 32,480 0
201 ZEet2& ] 3,480 3,480 0
02 3224l 3,480 3,480 0
OXlote EX A=Y SHIR=
10,0003 2904 A+ 128 3,480
401 Al HIZL 2018 29,000 29,000
01 A=l 29,000 29,000
OXlots= Ex 2= HI|IES
500,000 *290H A+23] 29,000
HY2SIAL(FRT A1) 372,228 388,658 N16,430
ol 2 HH] 283,408 297,848 A14,440
Q14| 283,408 297,848 A14,440
101 e124d| 283,408 293,848 210,440
03 BRH(RIH L) 22U E > 283,408 293,848 10,440
oxz=2+# 283,408
ogs00=) 158,773
—209 Xt 3,220,610 «1& 128 38,648
-15@ Xt 2,940,850 1+ 123 35,291
=Py 2,605,550« 18122 31,267
-6 Xt 2,437,3703~ 18122 29,249
-1& Xt 2,026,430« 18~ 128 24,318
O=¢ 93,882
-tEsg 5,280
HH < Xt 40,0003 %3+ 123 1,440
ZEHIS 20,0008 +x3&* 122 720
< XM 20,0002 2~ 122 480
- =M 60,0002 2~ 12& 1,440
- SUTH 100,000 x1& =123 1,200
-SEag 100,000&x1&~12& 1,200
- E (= 2RE
18,6203 x5 *20AI 2t 123 22,344
RIS
24,92 x5 H+20A| 2t 12 29,991
-2
18,6202 x5 *20A1 2t 123 22,344
=2&5=E 12,0403 +52+ 128 6,723
“dedrg 50,000 x5& * 122 3,000
-Ag =& 50,000 x5& * 122 3,000
Og &SIl 1,242,018 +5H x23] 12,421




SN HAD AL
T BHSAAY|(FAT A
=9 elmEet| (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS2 4| 99,3123 68 »20 9,932
OFHZAH| 140,0002 x5« 12& 8,400
=38l 88,820 90,810 1,990
JI=23Hl 88,820 90,810 1,990
201 fer= 3| 51,460 44,710 6,750
01 Al 22| 39,060 34,810 4,250
CEEERS-EL] 500, 00021 %25 12,500
oJIEZHI(22)
8,000 x25H «8L « 12 19,200
O=AMI| EH 260,000 *6H 1,560
OB2(2IIH) 2
8,000 x5 x110! 4,400
O3RH(RIIAH) L 1,400
oxg= 90,0002 +5& 450
ogsets 100,000 6% 500
Oetd gt 60,0002 5% 300
O&st 15,000 +5& 75
Oo=9 15,0003 +5& 75
2 52434l 12,400 9,900 2,500
OB (| f) FAXI2H)
500,000 +6H 2,500
oRER3 9,900
oget 40031+6,000S 2,400
S 2,500&+3,000& 7,500
202 04l 31,200 31,200
01 =LHAHI 28,800 28,800
©J1=2Z24| 20,0003 x24H+52 x 122 28,800
02 A0 2,400 2,400 0
OANEZX 200,0003x 1 ~122 2,400
203 =4l 5,160 5,100 60
M EASHLRFAH 5,160 5,100 60
OJ|=H 5,160
O302!0lct 400,000& <123 4,800
O30Q! =1t 5,000 6~ 12 360
405 KHoHFSH| 1,000 9,800 /8,800
01 ML ESFSHI 1,000 9,800 28,800
ogRsE I Y 1,000
O0ISA! MEE(a
200,000 *5H 1,000




E 0 & AHE E A A

Chel: dgitts H=HE = (SH9 H2)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
AT A= 378,783 366,927 11,856
HEHE AAG) 201,127 285,379 5,748
g AFHE =X 203,085 229,806 N26,721
HPst ASHHE s 2l 187,473 215,646 A28,173
201 L2 | 187,473 215,646 A28,173
01 At 22|l 187,473 215,646 A28,173
OA=dE HRUY =2 185,473
OA=oIIF SHE AL, ZAH, &l HRHE
1,084,000& *367 24 *5% 19,892
OAMNSSCI(B1Dt) ST AL, ZAH, &0l A
SO 1,084, 0003 30124 %25% 81,571
OA=4LL) SEXIZAL, HAH 2ol HASHE
1,084,000 *35524 *5% 19,241
OAES0I(AID) HEZT AL, HAH, &0l A
SOHEH 1,084, 0003 x23924%25% 64,769
OJtdA==E F&E EXE HE
2,500 80074 2,000
MHRAEAIEE ot EH 13,387 12,673 714
201 B2 AY| 13,387 12,673 714
01 AtR2eltl 13,387 12,673 714
OHMIBEAIEE XNEUA AEBHEAL =22
390,500 x2H 10 *13] 7,810
OM3BAIEE HIIHEEH =2
2,788,500 23] 5,577
ASSUHE 22 2,225 1,487 738
201 Lt | 2,225 1,487 738
01 At 2telt] 2,225 1,487 738
OA=ESUE L=28 Z2H EU
220,000 =64 1,320
OH==2UE L=EX
21,0003 *30= A 630
Od==SUE 215)| BN 28
55,0002 *5I4 275
sy N &= 88,042 55,573 32,469
2= el ¥ &= 79,694 47,695 31,99
201 L2 | 9,380 7,380 2,000
01 At 22|l 9,380 7,380 2,000
O=SHHES 22U dield
10,000 x50 500
o=gde 2& 222 i
5,000& *6005 3,000
O=sA&FI= AIE AEIAH M
200& *5,0000H 1,000
OSYd? t= =2
8,000& »4Hx100 3,200
Ott=s8t II=Y| 1,680




SN HRTD AED
B ASHE 243
ol SEdER A o EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o=28= 90,0006 *2E 1,080
ogsets 100,000 64 600
206 MH=H| 4,314 4,315 A
01 M=4l 4,314 4,315 A
Os8&1= JHIHEE JIXY 4,314
Ooblng X e2g
4,000 *200Z 2l 800
Oste N2IE HIY
1,000 *300Z cll 300
ot=H I 7,00024 100K 700
OLIH 20,0002 = 10H 200
O8+=2 MAE =)
175,000 *5H 875
O8l#=2 MAHEg X(B) 50,0002 *5H 250
OF =2 HAHE )
25,0002 *10H 250
o=z 3,000 «100H 300
L8l 25,0002 *4H 100
OAEIHMAK 7, 7002 *70H 539
307 @120l & 37,000 36,000 1,000
05 212+ =S 37,000 36,000 1,000
Osgdil=s s23HEY
37,000,000& 37,000
405 AHAHE S 29,000 29,000
01 AL =S F=HI 29,000 29,000
OosgZle U8 IEFL(HHAS)
29,000,000 1CH 29,000
SYE-dd & “4HEXE | 8,348 7,878 470
201 eer23| 6,898 6,328 570
01 AtR2t2lHI 6,898 6,328 570
O=aHX= HIIXIH
54,0003 *4m' x32] 648
OLaHX=E EHEH X2 900
OXIAHIZ 450,000 «1CH+2 900
SELEY € SH4AXIE Z0 AR A
= 300& *5000H 150
OsgLdd E oKX= 28 2= Xl
= 6003 *1,0000H 600
ORI =&Y SEHE =X S
8,000 *208 »20! 3,200
Ottse U= 1,400
Ooz282= 90,0003 x25+5d 900
Oogst=s 100,000& +5& 500
206 M=Hl 1,450 1,550 A100
01 MHZH| 1,450 1,550 A100




FA HEF HF
M AZHE A5
el SEER NE o5 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o84 & dNXI= gHIE A23 1,450
oz&s 5,000&*10H 50
ots I8 4,000 *200Z ¢l 800
OiE (ORUHSEHxK) 35,0002 *5H 175
O=4l 25,0002 *5H 125
OogZ x| 15,0003 *20H 300
dY2IFH(FEF 2= 87,656 81,548 6,108
J1I=23sl 87,656 81,548 6,108
JI23Hl 87,656 81,548 6,108
201 =3 41,456 36,348 6,108
01 At2t2lt] 30,432 27,324 3,108
OJ|=gR=8BH| 500,000& x24H 12,000
SIE=TIER)
8,000 x24H 82 x 12 18,432
02 S3=gHl 11,024 8,024 3,000
O%RER=S 9,960
Ooggt 4003 +200S 122 960
oSl 2,500 *300S+ 122 9,000
O#HI A= HHI= A 1,064
oesl 2,300,000 «1CH*8% 184
OB K= AR 5,500, 0002 *2CH*8% 880
202 04| 42,000 42,000
01 =LHO LI 15,600 15,600
OJ|=&4l 20,0002 x13+6& * 122 15,600
02 A0 26,400 26,400 0
OHAIZEA 200,000« 11H*12& 26,400
203 2=l 4,200 4,200
M FANEHYERFAY 4,200 4,200
OJ1EAH(2521015t) 350,000&4* 122 4,200




